	scale construction scoring [#categories(X)-1]/#results(Y) =1 
	 
	 
	 

	total of questions per section = 6
	 
	 
	 
	 
	 
	 

	score/6= category classification score
	scoring interval width 1
	 
	 

	total of possible points per section (6) score 0 to 4. min score 0, max score 24
	 
	 
	 
	 
	 
	 

	
	 
	 
	 
	 
	 
	 

	scoring
	/#questions
	category
	 
	category
	score
	 
	 
	 

	0
	0
	absent
	 
	absent
	0-6
	 
	 
	 

	1
	0.166
	absent
	 
	mild
	7 to 12
	 
	 
	 

	2
	0.333
	absent
	 
	moderate
	13 to 18
	 
	 
	 

	3
	0.5
	absent
	 
	severe
	19 to 24
	 
	 
	 

	4
	0.666
	absent
	 
	 
	 
	 
	 
	 

	5
	0.833
	absent
	 
	category (X)
	 

	6
	1
	absent
	 
	absent
	mild
	moderate
	severe
	 

	7
	1.166
	mild
	 
	 
	 
	 
	 
	 

	8
	1.333
	mild
	 
	scale (results, Y)

	9
	1.5
	mild
	 
	0
	1
	2
	3
	4

	10
	1.666
	mild
	 
	 
	 
	 
	 
	 

	11
	1.83
	mild
	 
	 
	 
	 
	 
	 

	12
	2
	mild
	 
	 
	 
	 
	 
	 

	13
	2.166
	moderate
	 
	 
	 
	 
	 
	 

	14
	2.333
	moderate
	 
	 
	 
	 
	 
	 

	15
	2.5
	moderate
	 
	 
	 
	 
	 
	 

	16
	2.666
	moderate
	 
	 
	 
	 
	 
	 

	17
	2.833
	moderate
	 
	 
	 
	 
	 
	 

	18
	3
	moderate
	 
	 
	 
	 
	 
	 

	19
	3.166
	severe
	 
	 
	 
	 
	 
	 

	20
	3.333
	severe
	 
	 
	 
	 
	 
	 

	21
	3.5
	severe
	 
	 
	 
	 
	 
	 

	22
	3.666
	severe
	 
	 
	 
	 
	 
	 

	23
	3.833
	severe
	 
	 
	 
	 
	 
	 

	24
	4
	severe
	 
	 
	 
	 
	 
	 



